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Use the table to find the slope. ¥ B
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Warm Up
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Tell which number you would add to or subtract from each side of ¥ A " s
the inequality to solve. A OAWSCusSS Lbo)nay s r= N4
1.k-12>-4 2.0sb+8 y
3.x+5>-6 4.7sm+2 1 s -
5.r-2>6 6.8+w>8
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Esgential Question -
How can you use an arithmetic sequence to describe a pattern?
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Work with a partner. Use the figures to complete the table. Plot J
the points given by your completed table. Describe the pattern of
the y-values. ' I
m ne=1 n=2 n=3 n=4 i , 1) ;
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Numberof stars, n | |
Numberofsides, y | /00 | D02 0 0| =10

Exploration 1a
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Work with a partner. Use the figures to complete the table. Plot
the points given by your completed table. Describe the pattern of
the y-values.
b. n=1 =2 n=3 n=4 n=5 ¥, T
& + T
o © jama.
4 L]
= 3
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Numberiof drcles, y 05 -
Exploration 1b
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Work with a partner. Use the figures to complete the table. Plot
the points given by your completed table. Describe the pattern of

the y-values.
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Numberofrows,n | | | 2 | 3 | 4 | 5 0
Number of dots, y /| y |

Exploration 1¢c
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) Gave Concept

Arithmetic Sequence

In an arithmetlc sequence, the difference between each pair of conseculive (erms
is the same, This difference is colled the common difference. Each term is found
by adding the commeon difference 10 the previous term.

5. 10, 15 20. .. Terms of an arithmetic sequence

N/ NN
+5 45 +5 <—— common dilference F
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Core Concept

Write the next three terms of the arithmetic sequence.
-7,-14,-21,-28, ...
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Example 1
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Write the next three terms of the arithmetic sequence.
1.-12,0,12,24, ...

2.0.2,06,1,1.4, ...

3.433 3131
47273

Monitoring Progress 1-3
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Graph the arithmetic sequence 4, 8, 12, 16, . . .. What do you notice?

Example 2
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Does the graph represent an arithmetic 16 '(1- 75 T 1_\ . -
sequence? Explain. 14 ; | f i1 1 £ 7
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Example 3
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Graph the arithmetic sequence. What do you notice?
4.3,6,9,12,... 5.4,2,0-2, ... 6.1,0.8,06,04,...

7. Does the graph shown represent an arithmetic sequence? Explain.

| e iy !
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Monitoring Progress 4-7
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G Core Goncept

Equation for an Arithmetic Sequence

Let a, be Ihe ath term of an arithmetic sequence with first term g, and common
difference 4. The nth term is given by

a,=o) + @~ d
I Resy Vem @ Q, 4
g 9™ tem a, Q4 rdl  Ht3=13
3ral yerm Qg a, + 49 H4r3)= 10

Y4 F3(x) ="
y M Jerm ay Q, +3ad —

Oxamele

Wt (n-1)(3)

nth n™ Jeeman a4t Inkid

Core Concept

| Write an equation for the nth term of the arithmetic sequence 14, 11, 8,

| 5,....Then find as.
I

: Qn = Q, "(V)'l)d
i = Iy 4(")-0('3)
= -3n + 13
Osp= -3(sO) ¥
= -133

Example 4
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Write an equation for the nth term of the arithmetlc sequence. o~
Then find . n LA

8.4,56,7,...

9.8,16,24,32,...

104, 0, =12, .55

Monitoring Progress 8-10

Online bidding for a purse Bid Number |1 |2 |3 \
increases by $5 for each bid |Bid Amount 860 [§65570/575 : ;
after the $60 initial bid.

a. Write a function that represents the arithmetic sequence.

b. Graph the function.

¢. The winning bid is $105. How many bids were there?

Example 5



Chapter 4 Section 6 BI-A1

11. A carnival charges $2 for each game after you pay a $5 entry fee.

a. Write a function that represents the arithmetic sequence.
b. Graph the function.

¢. How many games can you play when you take $29 to the carnival?
Games A
Total Cost  [87 [$9 [$11[813

Monitoring Progress 11

3-2-1: Hand out a reflection sheet as described in the Formative
Assessment Tips.

Closure






